




Устный счет

            Поляна «Подумай»

1) 197, 198,199,…, 201, …, 203.

903, 902,…, …, 899, 898.

2) Дополните до 100

90, 70, 40, 10.



Озеро «Решайка»

1) 270+□= 300
    750+ □= 800
    360+□= 400
2) Решите примеры:
  300+200          90:10
  560-60             480+20
  70+80              220-20
  905-900          2· 100



                           

                          Физминутка 



   77+8               770+80

   77-8                770-80



Лесная чаща «Задачкино»



• Сибирская пихта- 30 
м

• Кавказская- 60 м



Яблоня сибирская-50 
лет

             Кедр-550 лет



Карликовая лилия-60 
см, это на 40 см 
меньше высоты лилии 
даурской. Лист в 10 раз 
меньше высоты лилии 
даурской.

• Лилия даурская-




